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Cost-benefit approach
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FTSE
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6) 40 % + 30% + 30% FTSE

!

2
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FTSE
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FTSE
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(Straight line Method)
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43321
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43324 1 2
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2539 2542 1 2
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4.33.2.5 3

2542

20



4.33.2.6

5 %
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cost pool
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[ cost center
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4.3.7 cost center Reciprocal Allocation

Method

cost center

Reciprocal Allocation Method

43.7.1

j = cost center

( j=8
)
A= cost center cost center
cost center
b = cost center

X cost center

X1 cost center b
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X, =bl+ ( X2 X)X+ ( X3  X1) X3+........ + ( X X)X
Xg=bg + ( XL Xg) XL+ ( X2  X8) X2+ ... ... + ( X7 Xg)X7
4.3.7.2
(Matrix Algebra)

Microsoft excel

[A] [X] = [B]
[X] = [A1[B]
[Al [X] = [B]
__I*xl-( X2 X)X -( X3 X1)X3- - ( Xy X~Xg
bg—1"Xg - ( X1 Xg) XL -( X, Xg)X2- - ( ©XT Xg)x7
(Matrix Algebra) X

4.3.7.3

cost center
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SCH =
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SCH
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4 ) SCH
SCH =
2542 4
4 SCH
1 3 SCH
3 x 755 =226.5
= SCH SCH
226.5 x 2196.84 = 497,587.37
4.3.8.3 32
32
] 5 ( 3 )
[ 4 (2 3 2
1 )
] 1 3 )
] 1 2 )
] 1 2 )
] 1 2 )
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30
Microsoft Excel
SCH
4.3.8.5.2.2 2
30 2
Microsoft -~ Excel
SCH (
SCH
4.3.9
4.39.1
4382 4.385)
1
4
4.3.9.2 FTSE

FTSE

SCH
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FTSE SCH
FTSE
FTSE =

144-12(

FTSE
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44256
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4.4.2.8
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FTSE
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4.49.1

2-6

/ CH

SCH

SCH

SCH

1989

/ CH

1989x5424.72 =

82



4.49.2

SCH

FTSE

157.25

" IFTSH

33,128,022.02

210,671.05

FTSE

2-6

SCH

SCH

FTSE

FTSE

/36

2 =37 x 153 = 5661

' [FTSH 2

83

SCH

FTSE 2 5661/36

33,128,022.02/157.25



a v
LINRIL

4.4.1 Anlasiafraas

wriaaamiasauluane

84

4.4.2 pnidn 4.4.3.1 \iudeya

furewsiazmion | [sunuidures

U cost center laaRsa

4.4.3.2 flusiunuvisies
{1uW cost center un

cost center

4.4.4.1 Wisunures
WUILUUTINT 4 U

cost center laamsa

4.4.4.2 Tusiunu
PDINUILIUUTINT

4 W cost center

4.4.8.1 fusunuannairidng

naNgms

4.4.82 flufunuainueiniirguan

ang

4.4.83 1UAUNUIBINANGRT

4.4

4.4.5 sausunuEn

cost center

446 flusunuaua. Wiy

cost center luaua.

v

4.4.7 TUFUNUTIBIUHUN

uinslinnaden

v

4.4.8 Thuunudnguanans

4.3.7.4 AaF9ANNTUARY

PR P PSS IR P P

Funu
4.3.7.5 WNANNNSALLNAING
4.3.7.6 flusunurasunun

vinslaalddndauilaann

nsufannig

'

4.3.9 ANIURUNURBAY

TRMENARTUNRA




4.5

costing)

45.1 Hierarchy
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Hierarchy

Hierarchy 4

1) Uint-level

2) Batch-level

3) Product-Sustaining

4) Facility-Sustaining

411 hierarchy
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cost center
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(Product-related Activity)
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Hierarchy

Hierarchy
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cost object
Product
Facility

Unit

Unit
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(Support Activity)

(Support Activity)

(Product-related Activity)
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